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1) Complete the sentences to calculate how much money is in each savings jar.

In the savings jar, there is

In the savings jar, there is

pounds

pence.

This is £, and pence.

There is £, _

in the savings jar.

In the savings jar, there is pounds
In the savings jar, there is pence.
This is £, and pence.

There s £ . in the savings jar
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2) Complete the part-whole models.

£875
£2, £1, 50p, 20p
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3) Convert these amounts to pounds and pence and using the £ sign. The first one is done for you

@) 265p = 2 pounds and 65 pence = £2.65 b) 205p =

) 65p = d) 250p =




